(0 @) (rad)

Ratio

SICEWATL

1072

=
<

o p/p.)

s f 5 :
g : :
310‘1 i Ferereeneeees e
5 ; ; ;
* : : :
10‘25 TR e e
TR R B AU — SR
i Foreeanid]
o 10—l el tl
: 5 R 1 T j
R - o (TR
H : I T TLTTET
il 1+++*++++++++++++++++ 1 |11
H 0.95
—1 3 —1 2
10 1 TP pT (PCA t% beamlinélf) 10 1 TPp_ (PCA tloobeamllnef)
—=— DQM_mKFit_TT_retrain
—— DQM_mkFit_TTold
1 =
E E e
o
= O S A S
2 "
107 R, U R g, (O £ R e P e TR e E S e PP R PR SRS E R R
L4

+

[y
TTTT T

i

1071 1

%

H+++++++++H

10 1

HH i

o

©

a i
_¢_

2 3
TPlp?T (PCA t%obeamliné'p

: 2 3
TP pT (PCA t%)obeamlin%)o

i

i

}lf-

10‘1 1

= ..

2 3
TP FQT (PCA tjbobeamliné'f)



	Contents
	Page 1


